*  Bài tập về nhân đa thức với đa thức ( hướng dẫn giải)
	Bài 1: Làm tính nhân.

a. (x2 + 2)(x2 + x+ 1)

b. (2a3 - 1 + 3a)(a2 - 5 + 2a)

Bài 2:  Cho x = y + 5. Tính

a. x(x + 2) + y(y - 2) - 2xy + 65

b. x2 + y(y - 2x) + 75


	Giải:

a. (x2 + 2)(x2 + x+ 1)

     = x4 + x3 + x2 + 2x2 + 2x + 2

     = x4 + x3 + 3x2 + 2x + 2

b. (2a3 - 1 + 3a)(a2 - 5 + 2a)

    = 2a5 - 10a3 + 4a4 - a2 + 5 - 2a + 3a3 - 15a + 6a2
    = 2a5 + 4a4 - 7a3 + 5a2 - 17a + 5

Giải: 

 a. x(x + 2) + y(y - 2) - 2xy + 65

Từ giả thiết x = y + 5 
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 x - y = 5

Ta có: x(x + 2) + y(y - 2) - 2xy + 65

 

= x2 + 2x + y2 - 2y - 2xy + 65

= x2- xy + y2 - xy + 2x - 2y + 65

=x(x - y) - y(x - y) + 2(x - y) + 65

= (x - y)(x - y) + 2(x - y) + 65

= (x - y)2 + 2(x - y) + 65

= 52 + 2.5 + 65 = 100

b. x2 + y(y - 2x) + 75

= x2 + y2 - 2xy + 75

= x(x - y) - y(x - y) + 75

= (x - y) (x - y) + 75

= 5.5 + 75 = 100
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